o
(¥

) F
@ n
~0.15F
S o
o 0.1
\" -

3

[y

=
o
iN

[EEN

[Sejeieele

(DD DD
(=
QXX

R ]
o
=
D]
o

u!

TON
S
uar
uar
l_quar:
1Squar

QJQJDJDJ
N
(DD MDD

=100
80
60
40

< ‘)dxy > (“’m

L

-

=

e

hall T
PR
= T

.

iy

|
N
o
T T T T T T T [ TT T[T [ TT [ TT T[T TIT[TTI[TTT 71T

L

+

—i

[ay
OO
I8

B5e
iR

<opJp,> (%)
O = N W N O

Ratio
N

= 3l
F ||
= I
F +1+]
E 1k
F B B
o +
-1 % :
E 3 .
-2 4 Y
-3 — i
—-4F -
5E ol
r HES 8
]_-—- . 2t -_g::-:n- ------------------------
o £+
r E =
o o hd

o
h

1

(PCA t%) beamllne)O

2 3
1[9T (PCA f})obeamlinéf)



	Contents
	Page 1


